Wd 90 '80 :2F §002/22/€ ubp 7Bus AsT\yeC09O\ "

S— - LARNYEIN

08 0oL 09 04 ol4 o¢ 0<¢ o1 0 01 0¢ 0¢ ov 0s 09 0L 08 06

= g 01 = .1 *7H0H |
Clel (B2 £ = 3 A |
Ll ERTAS |
ERkNE
wm m 8¢ 2+l VLS {SNI9JE 390149
mm = 0¢°69+9T1 VLIS SANT| 390149 |
sy 000F9T |
19¢ 00700491 |
1315 o["08S 2 G 5 g U85
m m g 16°v8S P —
G8g & uV/AMH \\\\\\hllhhkilll!f{!lll} GB8Y
22 5
065 // R = o8BS
mmum o2 = 4 mw 12=20 mmm |
0°08+91
00 0C+HOT
0BYS e i I 0BG
585 " e ] i oS . st
l\a.a\
065 % S A 065
] /3: - Pﬁoa\.u i
ab5 = 3 sst=d BY w0 = = 565
O"00+.L1
[avalklaYal J T
OBY VAV IR VIV VA 0BG
G8¢% . ze'988 - " : S8Y |
S 2
2 m— |

06S B3 & i e — i
N DT

\I‘\“‘Ig
GBS = = @ - o S65
] 2 =d & €= 2 =
009 009
177374
TERIF AW ZIAI
LG p+)T
GYG CNOLLYAVDX3 |2 3 §8G
Rt o :
LH3ATND| dNO et 191x3 G0 1 3dAL ‘G SSH
oBC QN |__—T1y3ATND 3did ‘dpyd .
D —
B
L 702 &
—
565G g 5bS
009 009

08 oL 09 0S ov 0o¢ 014 01 0 o1 0¢ 0¢ oy 09 09 0L 08 06




